
HRANOLY – POVRCH A OBJEM - 8. díl 
 
ZOPAKUJME SI PŘEVODY JEDNOTEK OBSAHU A OBJEMU: 

 
PŘÍKLADY K PROCVIČENÍ: 
1) 7 cm2 =   m2 

2) 238 dm2 =   cm2 

3) 94 cm2 =   dm2 

4) 30 m2 =   cm2 

5) 243 a =   m2 

6) 17 m2   dm2 

7) 88 mm2 =   cm2 

8) 0,402 dm2 =   m2 

9) 12 cm2 =   mm2 

10) 18 cm2 =            m2 

11) 42 m2 = ………………….. km2 

12) 248 dm2 = …………….. m2 

13) 0,138 m2 = …………….. cm2 

14) 39,04 ha = …………….. a 

15) 1 2,975 km2 = ……………..ha 

16) 0,002 9 km2 = …………….. m2 

17) 564,1 m2 = …………….. a 

18) 236 a = …………….. ha 

19) 7,0025 dm2 = ……………. mm2 

20) 0,07 cm2 =   mm2 

 

1) 1,7 m3 =                           dm3  

2) 1 200 mm3 =              cm3 

3) 190 dm3 =                           m3 

4) 0,87 dm3 =                          m3  

5) 0,056 m3 =                          dm3  

6) 0,2 dm3 =                          mm3 

7) 10 cm3 =                          mm3 

8 2,1 m3=                          cm3 

9) 0,4 dl =                          l 

10) 34 ml =                          cl 

11)12 hl =                          l 

12) 670 cl =                          l 

13) 1 500 dl =                          l 

14) 0,056 l =                          ml 

15) 2,8 hl =                          l 

16) 0,05 hl =                          l 

17) 270 l =   cl 

18) 6,9 m3 =   dm3 

19) 3,29 l =   dm3 

20) 88 cm3 =   mm3 

21) 70 m3 =   dm3 

22) 377 mm3 =   cm3 

23) 0,6 m3 =   dm3 

24) 6,6 dm3 =   l 

26) 17 dm3 =   cm3 

26) 8 ml =   dl 

 
 
 
 


